Part Number / NEEDED

TO ORDER DESCRIPTION Qry
1SO4762-M6X16-A2-70 SCREW, CAP, SOCKET HEAD, METRIC ;21 36 Total
ISO 4762-M4X25-12.9 SCREW, HEX HEAD, METRIC 32 144 Total

1SO4762-M6X25 SCREW, CAP, SOCKET HEAD, METRIC 16 24 Total

ISO 4762-M8X40-A4-70 |BCREW, HEX HEAD, METRIC 2]2 total




	Sheet1

